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Question Number : 1 Question Id : 5832241091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A CPU with a clock rate of 1.8 GHz can perform clock cycles per second.

Options:
; + 1.800.000.000

. % 180.000.000
5  18.000.000
4, » 1.800.000

Question Number : 1 Question Id : 5832241091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1.8 GHz 7 F91F I I UF O (CPU) ¥e3F O%E & FHF WO 907 FT TFAT 2

Options:

. » 1,800,000,000
. » 180,000,000
. » 18,000,000

, = 1,800,000

Question Number : 2 Question Id : 5832241092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Data stored in RAM gets when the computer power is turned off.

Options:
1 % inverted

> o erased
% % doubled
4 % stored

Question Number : 2 Question Id : 5832241092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST FTYeX HT 9 IE & A1 g ar 37 (RAM) # FIET seT AT gl

Options:
1. % 3Jelc

> v BT
z ® :.:! ?ﬂ-

, » TR &

Question Number : 3 Question Id : 5832241093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following statements is false?

Options:
, w Control unit directs the operations of the processor.

- % CPU has its own storage unit called registers.
5  RAMIs an integrated part of the CPU chip.

4 % EPROMIs aread and write memory.

Question Number : 3 Question Id : 5832241093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TafoeT # ¥ Fi9-81 Fud 79 g2

Options:

| x I AT TH HHE & FHH F HERT A E
S g (CPU) T H9=T $8R0T 1 (TR IfAe) 8l 8 Toeg oy Fad 2l
. v & (RAM) drfig (CPU) RIT T v Thiga (3E1es) #7197 & &

, « $9%F (EPROM) % fi 3k se #aidr ¥

Question Number : 4 Question Id : 5832241094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is also known as personal computer?

Options:
1 ® Web server

5 % Super computer
% % Mainframe

4 « Desktop computer

Question Number : 4 Question Id : 5832241094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Talaf@a & 9 8 wad F9e7 F §7 & $ff F= v 87

Options:

1 *® ?ﬁl'l‘:lé'{

TR FGH

> R

5 % HIPH
, o STFET FIH



Question Number : 5 Question Id : 5832241095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In CD-RW. data can be erased and modified:

Options:

; w only one time

5> % maximum two times

%z % maximum hundred times
4  @smany times as required

Question Number : 5 Question Id : 5832241095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

CD-RW &, 271 e 3t oiafaa &ar o1 g=+ar &

Options:
| % %ge Tk R

5 ® Hﬁmaﬁ‘m

2 = >
i HTIRASATTHN Tl =Tg

Question Number : 6 Question Id : 5832241096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an internal memory?

Options:
1 ® CD

> % Hard Disk
%z % Pen Drive
4 « RAM

Question Number : 6 Question Id : 5832241096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
feafof@a & & Hake #ANT Fia-dr 87

Options:

;% @ (CD)
o x BS BEF
5 % 99 5159
. v & (RAM)



Question Number : 7 Question Id : 5832241097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The storage capacity of CD is more than that of DVD.
IT) The pen drive is also known as USB drive.

Options:
1 % I-True, II - True

5  1-False, II - True
z % 1-True, II - False

4 % 1-False II - False

Question Number : 7 Question Id : 5832241097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEr I T FAIT

) &St (DVD) & Jorem & HEr (CD) T HSROT &TH T (FeR=T Fafady) 3w g g
) 97 359 & JUHET (USB) 359 & T & &ff J=T F1e 2

Options:

Low |- @@L N - =

o » |- 7Ed, Il - JE

o ow |- @@, - e

L ow |- Ea, |l - Ted

Question Number : 8 Question Id : 5832241098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
Iy DVD A) Rewritable
IT) Smallest memory unit B) Video disk
IIT) CD-RW C) Bit

Options:
1 % I-B.II-A.IlI-C

- % I-C.IH-ATI-B
z ¢ 1-B.I-CIM-A

4 % 1-CII-B,II-A

Question Number : 8 Question Id : 5832241098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



frafafaT &1 &= 3
-1 Te-2
) &= (DVD) A) frsese
) Feg o<t AR e B) dIEAr Bww
) F&r-3=eeg (CD-RW)  C) fae

Options:

cou =B - K W-€
oo 1= 18, =8, =B
cwrd =B M-8, 1=
ex 18, =8, 0l -5

Question Number : 9 Question Id : 5832241099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is an example of the fifth-generation programming language?
Options:

;1 ® COBOL

> % FORTRAN

=z % JAVA

4 v PROLOG

Question Number : 9 Question Id : 5832241099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fr=ofee 7 o Fia-ar ar==br 9 Fr SrenfHEeT s #7 3gEr 22

Options:

_ FrErta (COBOL)

1 %

- FREiT (FORTRAN)
- % STET (JAVA)

, » JreeT (PROLOG)

Question Number : 10 Question Id : 5832241100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Every computer must have ain} to facilitate the working of all its components and mn other programs.
Options:

1. operafing system

> % compiler



5 % interpreter
4 » utility software

Question Number : 10 Question Id : 5832241100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& Fg ¥ T ffrEl & 8% ¥ F1H w3’ gEy Tl 9enAr F 9w & v s
= 2T 3T B
Options:

o gfefordr arveasR

Question Number : 11 Question Id : 5832241101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS-DOS is a(n):

Options:

7, Operating system

> u Utility software

5 % Open-source software
4 % Freeware

Question Number : 11 Question Id : 5832241101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THTH-2® (MS-DOS) TH gl
Options:

1« m“tt‘?ﬁ?rﬁﬂm

| R wiweEr
z K W—Fﬁm
4_&5@'?-&?

Question Number : 12 Question Id : 5832241102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements about open-source software is true?
Options:

, w Allutility programs are open-source software.



> % [Ihe source code of open-source software is not freely available.

- » All open-source software are owned by the Microsoft.

4  LINUX is an open-source software.

Question Number : 12 Question Id : 5832241102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MNTA-T1F T0eadT & T & e foniad & T HI9-07 FIF Ter 87
Options:

| TN IR g i s A €
o x HIF-HN W F W T T 7T § 3909 781 2l gl
, « TT HIT-HIE HFEIIT AFHEGE & FNAA H 2

, v THTFE TF M WY T

Question Number : 13 Question Id : 5832241103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Python is a programming language.

Options:
1 % low-level
- % Hrst-generation

- % second-generation

4 high-level

Question Number : 13 Question Id : 5832241103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
qraeiT T Fr SR T

Options:

1 ® ﬁ-’ﬂ?-m
o B qﬁ'%
=z ® q‘qﬂl-%

4« I=I-FT

Question Number : 14 Question Id : 5832241104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 128 Bytes?

Options:
; # 2" Kilobytes



> « 27 Kilobytes
s % 2° Kilobytes

4 % 27 Megabytes

Question Number : 14 Question Id : 5832241104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=af@a 7 o #ar 128 a5 & ==y &2

Options:
7
. » 2/ TrerErseH
22 fFaEEeT
J =

2%
. 2 foroiemsew
L w 2° #ATmaEeH

Question Number : 15 Question Id : 5832241105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The short-cut key to pop-up Windows shutdown option in is:

Options:

1 » Ctrl +F4

> % Ctrl + Shift + F4
z o Alt+F4

4 ® Win+F4

Question Number : 15 Question Id : 5832241105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e oressa e 919-31T X #1 oiewe el gl

Options:

% Ctrl + F4
. % Ctrl + Shift + F4
-« Alt + F4

. % Win + F4

Question Number : 16 Question Id : 5832241106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Number of bits in IPv4 address is:

Options:
1 ® 16



" 32
=z B 64
4 % 128

Question Number : 16 Question Id : 5832241106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IPv4 9o # feeg & ger gl
Options:

; & 16
> o 32
z % 64
4 % 128

Question Number : 17 Question Id : 5832241107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the followinge achivily sequence can be usaed to astominze the Windows desklop backpromsl m Windows-77

Options:

, w Right Click Desktop — Properties — Desktop Background
-  Right Click Desktop — Personalize — Desktop Background
- u Right Click My Computer — Properties

, » Right Click Desktop — Personalize — Setting

Question Number : 17 Question Id : 5832241107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
BErE-7 7 s srey ST 7 FEEAES oA & v REeias et SEeA # w e
T T AT mEar £

Options:

, % SERE W g Fes — T — STReT dahanss

. » SFFET W g BFeed — qHAaES — 3T SHATES
. T FIXR W afgan Forh — gt

, x SFFeM W Mg Fed — quaass — AfeT

Question Number : 18 Question Id : 5832241108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the followings i1s NOT a valid Windows Desktop pane?
Options:

1 % Task bar



> « Menu bar

5 % Quick launch toolbar

4 % System Tray

Question Number : 18 Question Id : 5832241108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FreTaT § ¥ #i9-01 U5 39 &89 SThav 9 Fd7 27
Options:

1 B cl¥eh ST

Elyﬂn{r\m

2 % s o= W

L WEHAT

Question Number : 19 Question Id : 5832241109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Printer installation in Windows-7 does not require driver.
IT) External microphone camera can be used as a webcam.

Options:
1 ® I-True, II-False

5  1-False, II - True
z % I1-True, II- True

4 % 1-False II - False

Question Number : 19 Question Id : 5832241109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Her T 3Tald §dT0|

) fEe-7 & Ry seeroee & T srEay i s1aeTear J@r g g
1) STEEr ABFBIT FHAL FT TIAET 967 & & F off a7 57 FeFar g

Options:
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o o |- e, I - FE
N i [

, x| - 7o, Il - T



Question Number : 20 Question Id : 5832241110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Socket address A) Logical address
IT) MAC address B) IP address +— Port address
IIT) IP address C) Ethernet address

Options:
. » I-AII-B,II-C

o % I-AII-C.II-B
2w [-C.II-B.II-A
. v I-B.II-C.II-A

Question Number : 20 Question Id : 5832241110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Trafaf@a &1 e F:2
Te-1 He-2
) "iehe 9aT A) Fiferare Iar
) #F (MAC) Tar B) 39 (IP) 9ar + 91 9ar
1) 39T (IP) 9ar C) EATAT IAT
Options:
 wl-ANl-BIl-C
,xl-A1Nl-C Il -B
w1 -C Il-B, Il -A
Lol =B I-C Il -A

Question Number : 21 Question Id : 5832241111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Intel ©13™ 1s a(n):
Options:

| % Operating system

5 o Microprocessor

5 = Application software

4 w System software

Question Number : 21 Question Id : 5832241111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
seo “i3” T gl
Options:

1. % A RBres
z.wmmm

- % TUCHIR HTFESIT
4 » TOFEH WFEIT

Question Number : 22 Question Id : 5832241112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the followings is NOT a valid category of malicious program?

Options:

| % Spyware

- % Malware

z # Adware

4 Corruptware

Question Number : 22 Question Id : 5832241112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fFeafat@a # ¥ Fia-ar AP g $1 vF Ju Sofr 7@ 87

Options:

1 % R IECD Ry
- % HeEOR
s % USAW
4 FIeeIAT

Question Number : 23 Question Id : 5832241113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the strongest password?

Options:
| % 894671

, % qwerty
5 % (Werty@s8976
4 qwerty%8976#

Question Number : 23 Question Id : 5832241113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A=l § & Fia-ur ow9s 98 7999 872
Options:

, % 894671

- u qwerty

5 » qwerty@8976
4 qwerty%8976#

Question Number : 24 Question Id : 5832241114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid software bug?

Options:
1 # Flaw

> % Fault

-  Collapse

4 % Failure

Question Number : 24 Question Id : 5832241114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Aol 7 ¥ Fi9-u1 vF 3 TivedaT 997 F467 87
Options:

1 Ll

o R = 2] uch
4 % WO

Question Number : 25 Question Id : 5832241115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an antivirus software?

Options:

, » Quick Heal
~ % Avast

=z % K7

4. & A3

Question Number : 25 Question Id : 5832241115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fafEa # ¥ #i9-a1 v+ tE9aTy ueaaY Jaér 87




Options:

5% e &
5> w HATEC

=z & K7

4 v A5

Question Number : 26 Question Id : 5832241116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 sSet-2
I) Malware A) Automatically renders advertisements.
IT) Adware B) Itis self-replicating.
IIT) Worm C) It gains unauthorized access to a system.

Options:
, % I-A/II-B.II-C

, « [-AII-C.II-B
5 v [-C.II-AII-B
.« [-B.I-C.II-A

Question Number : 26 Question Id : 5832241116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

F=afET F fFee F:1)
-1 He-2
) HeEm A) FEIATEFRST AT &
) =3uT B) 7g T ¥uaAr SiAfafar a=mar &
iy T C) 78 ToFes W 3=fepd g9 Irod Fel &
Options:

pom 1= B0 = Bollei©
oo 1 =Bl =G M = B
ol =B U=, M- B
es 1B -8 M=k

Question Number : 27 Question Id : 5832241117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is NOT a valid file system in Windows?

Options:



1 ® NTES
- % exFAT
5 « FATS
4 % FAT32

Question Number : 27 Question Id : 5832241117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=afaa 7 o Fia-dr S & v 3 v s 78 82

Options:

1 % NTFS
- % exXFAT
= « FATS8
4 % FAT32

Question Number : 28 Question Id : 5832241118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following commands is used to create a directory?

Options:
1 v MKDIR

> % MKDR
4 % MKD

Question Number : 28 Question Id : 5832241118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
UF IEE 990 & AT AT § ¥ #i9-01 FA1E T 2rar 87

Options:

1+ MKDIR
> & MKDR
2z & MK

4 # MKD

Question Number : 29 Question Id : 5832241119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following commands is used to copy a directory?

Options:
1 % MCOPY

> o XCOPY



- % FCOPY
4 % DCOPY

Question Number : 29 Question Id : 5832241119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH STENEE H FE A & v FEAaad § § $la-8 FAE 9geT @ 87

Options:

, » MCOPY
. ¢ XCOPY
- » FCOPY
, » DCOPY

Question Number : 30 Question Id : 5832241120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is NOT a valid data compression technique?

Options:
1 % Lossless

> % LOssy

- » Huffman coding

4  Word replacement

Question Number : 30 Question Id : 5832241120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fTafEa # O #ia-91 v 32 e f1 39 T T8 22
Options:

1 ® H:IJ'\EIT:EF

> B ﬂ:l-.l—\.tﬁ'

.« T AT

L v T e

Question Number : 31 Question Id : 5832241121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) “Format” command is used to format a disk in Windows.

IT) File owner with permission code ““757" has only read and write permissions to the file.
Options:
; « 1-True, II-False



o 8 L False. II - True
= ® I-Tre, II - True

4 % 1-False II - False

Question Number : 31 Question Id : 5832241121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el IT TTed §d]|

) FEs F ‘Bide” FAE & 999 UF B35 & BiEe i F O G s d
ll) AT FT “757" T FIFA Aforw H FHad BEd T AR @ H 3gATT g g
Options:
PRI B
o x | -, 1l - TWE
5w |- WL Il - TEr
, x| - 7eE, Il - e

Question Number : 32 Question Id : 5832241122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
1) HTTP A) Statefull
iy FiP B) Stateless
IIT) HTML C) Markup language
Options:

. % IFAII-B.II-C
o % I-AII-C.II-B
2w [-C.II-A II-B

4w I-B.II-AII-C

Question Number : 32 Question Id : 5832241122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tafeiaa &1 Bea +:1)

He-1 -2
) A (HTTP) A) BTHA
) TwEr (FTP) B) o

Il) ToETATS (HTML)  C) HTRHT &7



Options:

pom 1 =Bl = Bolllei©
oo 1 =Bl =G, Ml = B
wn =8 =B, M-8
pord = Bl = Bl ©

Question Number : 33 Question Id : 5832241123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a valid text alignment?

Options:
, w Justify

-  Regular

3 ® Left

4 % Center

Question Number : 33 Question Id : 5832241123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=fafla & @ Fi9-ar ve 3y 9e gI@uT (SFEE HAEAHT) Fal 872

Options:

| % STEETE
LT

2 -
3 % oItFe
4 ® L

Question Number : 34 Question Id : 5832241124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is used to display document horizontally?

Options:

1 % Portrait

-~ % Macro

5  Landscape

4 w Template

Question Number : 34 Question Id : 5832241124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fr=faf@a & @ 5 &1 939 o siegee & afaw & & BT &= F v fmar s 22

Options:




gl‘ﬁm
S.Jﬁm
4 % TFIEE

Question Number : 35 Question Id : 5832241125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the shortcut key to open “Font” dialog box?

Options:
1 % Ctl+F

% AUW+F
 Cirl+D
g Hlt_D

&
=

Question Number : 35 Question Id : 5832241125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
i i = 1 e bl o =
Hiee’ ST A0 H Fiod F T oicshe F= F g7

Options:

% Ctrl +F
, % Alt+F
2« Ctrl + D
4% At+D

Question Number : 36 Question Id : 5832241126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A i5 a piece of text from vow document which is pulled out and displayved as a graphic element on the page.
Options:

1 % SmartArt

>  Pull Quote

5 # ClipArt

4 ® WordAnt

Question Number : 36 Question Id : 5832241126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UF AT SiSgHE & IS (SFET) F UF AT ¢ T g e F 958 9 UF aee Ao
F w9 F y2iET ear 3 &1

Options:



1 ® mﬁ%m

o gﬁ

=z ® ﬁ'?"rq-.}ﬂ-é-
4 ® 3@'341%

Question Number : 37 Question Id : 5832241127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is added at the end of a document to add explanatory information?

Options:

1 ® Footer
-~ % Footnote
3 « Endnote

4 % Header

Question Number : 37 Question Id : 5832241127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UF SEgHT F AF H TICE gedt SEe ve s & e fesfatee A § e S w22

Options:

TeAle

Z2% a4
gfﬂg?ﬁ?_"
4.%3%‘?‘T

Question Number : 38 Question Id : 5832241128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Page Size option is used to switch the pages between portrait and landscape layouts.
I} Bold. Italic, and Regular are known as font style.

Options:
1 % I-Tre., II - True

> % 1-True, II- False
5  1-False, IT - True

4 % 1-False II - False

Question Number : 38 Question Id : 5832241128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



HET 7 7T g0
I} T5= HE EEeT 1 I 758 F d9id T W55 WHEE F UH # gE # gga4 & v B

I aﬁj;?%iﬁ}ﬂ?wmﬁmi'ﬂmﬁ#ﬁﬁmmﬁz
Options: i
pow | -9, - |
5 % | - |EY, Il - 3o g
5 o | - 75, Il - |Er
4 x| - 704, Il - 3o

Question Number : 39 Question Id : 5832241129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the MS-Excel expression =MOD(14.15) is:

Options:
1 14

- R 15
T B 0
4 B 1

Question Number : 39 Question Id : 5832241129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-TFAA (MS-Excel) FHEI0T =MOD(14,15) & AT gl

Options:

1. ¢ 14
- % 15
2 % 0
4

Question Number : 40 Question Id : 5832241130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The RAND() function of MS-Excel returns an evenly distributed random number say *X" such that:

Options:
1 8 0<x<1

Question Number : 40 Question Id : 5832241130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

THUE-TFHS (MS-Excel) # RAND() %l AT &9 ¥ Faia Iefeos §&0 X' Y& 1 2,
forgeFr A gl

Options:

1 ® 0 <x <

f
.'I l'.

> % 0 <X

b ) B

gn QX<

Question Number : 41 Question Id : 5832241131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following M5-Excel fimetions retms TRUE if all its srguments are TRUE and retums FALSE otherwise?

Options:

1 « AND
> % OR
z % NOT
4 % IF

Question Number : 41 Question Id : 5832241131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fafeT § ¥ FI9-07 TATHE-UFET (MS-Excel) T, T a5 Ter 89 97 TRUE 3T awrer
FALSE &ar 22

Options:

1 « AND
- # OR
z % NOT
4 % IF

Question Number : 42 Question Id : 5832241132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is the correct syntax to evaluate 10° in MS-Excel?

Options:
, & =EXP(10,9)

., » =EXP(9. 10)
. » =POWER(10. 9)
, « =POWER(9. 10)

Question Number : 42 Question Id : 5832241132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



TATE-TFET (MS-Excel) § 10° &7 Fru=ws =19 ¥ v #f 397 9= @=aEs 4 3 =9 #7
Options:

. % =EXP(10, 9)
. » =EXP(9, 10)

. » =POWER(10, 9)
, » =POWER(9, 10)

»®

Question Number : 43 Question Id : 5832241133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Total number of active cell(s) in a Worksheet containing 10 rows and 12 columns is:

Options:
;. ® 120

o B 12
T R 10

a4+ 1

Question Number : 43 Question Id : 5832241133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
10 9fFaat AT 12 FAT Il Fefie § AT /T HI Fo & #4872

Options:

. % 120

4 1

Question Number : 44 Question Id : 5832241134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =INT(-3.1) 1s:

Options:
1 ® -3

2_%33
i
4 % 4

Question Number : 44 Question Id : 5832241134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TFHe H FHEIOT =INT(-3.1) 1 A gl

Options:



1. #® -3
5 # 3
3¢ -4
4 % 4

Question Number : 45 Question Id : 5832241135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) The *S$’ sign is used for absolute cell reference.
IT) Template is a special workbook which is used as a model for other similar workbooks.

Options:
1 o I-True, II-True
5 % 1-True, II - False

5 % 1-False II - True

4 % 1-TFalse II - False

Question Number : 45 Question Id : 5832241135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEr TT T FAT
) g 'S’ T weT HEN (YERErRE WA TRW) &Y YU o 8
) EF9erE T e FETEAE ¥ S 3 99 7 30 FEgiaEst F {r e A & 59 3 956
&1 =T 2
Options:

Lo =TT

Question Number : 46 Question Id : 5832241136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Match the following.

Set-1 Set-2
I) Joining text A) Caret (")
IT) Range B) Colon (:)
IIT) Exponentiation C) Ampersand (&)

Options:
| ¢ I-C.II-B,II-A



> u I-C.II-ATI-B

2w [-AII-C.II-B
. % I-AII-B.II-C

Question Number : 46 Question Id : 5832241136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=fotaa & Jee F:1
qe-1 Tqe-2
) 9re FAFA A) FE (V)
1) Sofr B) &= (:)
) =rares C) TIHE (&)
Options:
Lo l-C =B 1-A
o 1 -C Il-A Il -B
o« l-All-C Il -B
Lxl-All-B ll-C

Question Number : 47 Question Id : 5832241137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a Web browser?
Options:

1 % Safari

o o Google

- % Netscape Navigator

4 % Opera

Question Number : 47 Question Id : 5832241137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=af@a # o #i9-3r v 39 937 76T 27
Options:

1_$¢FCFI'3I'

> o

z Wﬁﬁﬁﬂ
4_3&%



Question Number : 48 Question Id : 5832241138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid file transfer protocol?

Options:
, % FTP

> % HTTP
5 % SFTP
4 « DNS

Question Number : 48 Question Id : 5832241138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=af@a § @ Fia-ar v 3y wEa T JSHT Jh6T 87

Options:

. TEETT (FTP)
. TIEENT (HTTP)
. » THUGEM (SFTP)
, v STTE (DNS)

1

2

Question Number : 49 Question Id : 5832241139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The maximun file size limit for attachments in Gmail 1s:
Options:

1 % 10 MB

> % 15MB
s % 20 MB
4 « 25 MB

Question Number : 49 Question Id : 5832241139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT (Gmail) #F e=Ae Fr 3w wEa @5 @A gl
Options:

. % 10 MB
, % 15 MB
- = 20 MB
. v 25 MB

Question Number : 50 Question Id : 5832241140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The World Wide Web standards are maintained and handled by:
Options:
 » World Wide Web Organization

> « World Wide Web Consortium
=z % World Wide Web Forum
4 ® World Wide Web Association

Question Number : 50 Question Id : 5832241140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Jo= TT 3 AGH H TS gaRT g0 @ AR FEfa B amar 32

Options:

| % To5 T13T I ARAEAYUA
, » o3 d13T I FHEIAA

. x do8 T18T AT BRHA

, » o2 9133 AT THIFHCAS

Question Number : 51 Question Id : 5832241141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) XML is a scripting language.
IT) HTTP is a markup language.

Options:
; & 1-True, II- False

>  1-False, IT - True
2 ® I-True, II - True

4 u 1-False II - False

Question Number : 51 Question Id : 5832241141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

TEr 7 T FA1C

) TFgUATS (XML) T TEwfeesT amr gl
) T (HTTP) T ATR3T A9 g
Options:

Low |- FEL N - e
o |- 3eE, |l - T




som |- N TR

, x| - 7o, Il - T

Question Number : 52 Question Id : 5832241142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Match the following.

Set-1 Set-2
I) Ask.com A) Email service
IT) Netscape navigator B) Search engine
III) Outlook C) Web browser

Options:
, » I-AII-B,II-C

, « [-AII-C.II-B
2w I-B.I-C.II-A
4 % I-B.I-AI-C

Question Number : 52 Question Id : 5832241142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TraeTEa &1 B 1

He-1 He-2
) Ask.com A) SHT aT
) ATEFT AfFreT B) @Y =1
) HEETF C) aF T3
Options:
s l-All-B l-C
»al-ANl-Cll-B
sl =B IN-C 1l -A
sxl-B Il-A.ll-C
READING COMPREEHERNSION
Section Id : 583224162
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 583224162
Question Shuffling Allowed : Yes

Question Id : 5832241143 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)

Juestion Label - Comprehension

Read the following passage and answer the questions given
after it.

P. T. Usha was born in 1964 at Payyoli village in Kerala. She is the
second daughter of Paithol and Lakshami Amma. At school. Usha
was an extremely bright student and had dreams of becoming a
doctor. Encouraged by her teacher. Balakrishna Master who
discovered her and her coach Nambir. who trained her, Usha started
her athletic career at school. Very soon she started hitting the
headlines and won many gold and silver medals.

She was selected as a member of the India contingent to Moscow and
was the youngest participant at the Moscow Olympics.

At the Asian Games at New Delhi. Usha did incredibly well by
bagging two silver medals. But neither she nor her countrymen were
happy. Perhaps, she had aroused too many expectations in the hearts
of her admirers. Usha continued to win several medals at various
competitions. The Jakarta meet in 1985 was a landmark in Usha’s
athletic career because here she got a chance to defeat her old rival.
Lydia of Philippines. and won five gold medals and one silver medal.
Usha became so popular in Jakarta that one of the Indonesian
newspapers nicknamed her “The Indian Gold Company™.

Usha had caught the imagination of the Indian public by her
wonderful performance at 1984 Los Angeles Olympics where she
narrowly lost a medal by one hundredth of a second.

Her greatest moment of triumph. however. came when she
participated in the 1986 Asian Games at Seoul. South Korea. Here.
she reached the height of her glory with four gold medals and one
silver. No one doubted now that a star was born in Asia. none doubted
her quality as an International athlete.

Today. P. T. Usha has become a household name. Her popularity can
be assessed by the fact that a letter addressed to ‘P. T. Usha. India’ by
one of her innumerable fans was delivered to her in normal time. That
summarizes Usha’s present status in India.



Sub questions

Question Number : 53 Question Id : 5832241144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many medals did P. T. Usha won at the
Asian Games in New Delhi?

Options:

1 « Two

> % Three

= % Four

4 ® Five

Question Number : 54 Question Id : 5832241145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Initially P. T. Usha wanted to be a:

Options:

, w lawyer
> # teacher
= « doctor

4 % athlete

Question Number : 55 Question Id : 5832241146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Why the “Moscow Olympics™ is considered
important in P. T. Usha’s career?
Options:

, « She was the youngest participant.

> % She bagged two silver medals.
- % She brought laurels to her country.

4, % She aroused high hopes among the Indians.

Question Number : 56 Question Id : 5832241147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Jakarta meet of 1985 is a landmark for
P. T. Usha because she:

Options:
, % won many medals.

-  achieved victory over Lydia of Philippines.

= # hit the headlines in media.



4, % caught the imagination of Indian public.

Question Number : 57 Question Id : 5832241148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why was P. T. Usha nicknamed as the
“Indian Gold Company™?

Options:

, « She won five gold medals in the Jakarta meet.

> % She brought in a lot of gold from abroad.

- % She became associated with gold business.

4, % Her contribution to athletics is very valuable.

Question Id : 5832241143 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 5832241144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

dr. & 3w F 7% e J it vREs
et 7 fohaet vee i o9

Options:

1.-;-**&*

5 % diel

z # X

4 % 9

Question Number : 54 Question Id : 5832241145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
9 H 91 & 39 T AT Tgar 2
Options:

, % Tehrol
> % 3EUTIH

4 ® Qﬂlﬁa

Question Number : 55 Question Id : 5832241146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4. & 3w & Hem F wE ek w@

Hgcaqul &4l HT AT 87

Options:

| v § ST O FTer §EE FH 3H & @ars off
. % 3o8ld & &d 9k i &l

. » 3@ HUF I F ATH oA AT 47

= mmmﬁﬁam&m|

Question Number : 56 Question Id : 5832241147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST #1985 e gfaafEEr €. & 3ur
¥ T v Hie FT 9T § FiE

Options:



c 38l §gd AR Fee S|

, v 378 Tferda #1 PfEar #1 wutsa &
. 7 A3 & gi@ar & o e o
, x 378 AT ST # A 35 ST

Question Number : 57 Question Id : 5832241148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

qr. &, 39T F “SEUT AMes FaA” F
T FIr @I e ar?
Options:

S H g5 IR # 3=
» U FUT 9gE ST 9
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1
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COUANTITATIVE AFTITULE

Section Id : 583224163

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224163
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 5832241149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Two ommbers are in the ratio 2 : 3, If the first number is increased by 20% and the second is increasad v 20%, then
percenfage increase in thei' sum is:

Options:
1 ® 18



2_@’?2[}
33225

4 W 40

Question Number : 58 Question Id : 5832241149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g Tt F WA 2 ¢ 3 81 afy gwe wew 7 20% v gud wmw # 20% Fv iy W &r ;v oA
3% T F afdd gfE F Ee

Options:

1 & 18
2 v 20
z % 2D
4 % 40

Question Number : 59 Question Id : 5832241150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The marked price of a TV is ¥ 18,500. A dealer allows rwo sneeessive discoumts of 200 and 5%. For how much is the
I available 1o g enstomer?

Options:

1 % < 13900

> « T 14060
3 % T14160
4 % T 14800

Question Number : 59 Question Id : 5832241150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

et & 1 HfEE FEa T 18,500 F1 vH I g9 W 20% W 5% & wAR & BT e weAr
b mmEw A e F T g

Options:

. % T13900
- » T 14060
- = T 14160
. = T 14800

Question Number : 60 Question Id : 5832241151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sumit, Rekha and Anshu can do a piece of work in 10 days, 12 days and 15 days respectively. How long will they take
to finish it, if they work together?
Options:

, w 3days



o # 0days

=  4days

4 ® 8days

Question Number : 60 Question Id : 5832241151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
qiFE, T #iT s B = F FE 10, 12 T 15 e §oun Y wea € o & uw Fw oA
FL F [T T H Io8 ohelel (8o w9917

Options:

% 3 A
. x 6 fea
3.v»"4ﬁ*?
4.@8‘%\?

Question Number : 61 Question Id : 5832241152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In what ratio shonld teq worth T 300 per kz and tea worth T 450 per ke be mixed s0 a5 10 2ot a mitare worth T 200 per kg?

Options:

i 23
e B |
=8 A2
44 122

Question Number : 61 Question Id : 5832241152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 300 wfF femr i T 450 v Rear & st & Bew waee F e = Al e
T FE= T 400 9fF BEr & FJw?

Options:

=2 :3
o 2 51
2 % 3:2
s

Question Number : 62 Question Id : 5832241153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average age of & children is 12 years. The average age of the first fwo children is 10 vears and the next two is
14 vears, What 1s the average age of the remaming twe children?

Options:



| % 11 years

5 o 12 years

5 % 13 years

4 % 14 years

Question Number : 62 Question Id : 5832241153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

;% 11 a9
> 12 a8
s % 13 a¥
4 % 14 9§

Question Number : 63 Question Id : 5832241154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the area of rectangle if its perimeter is 118 m and difference between its length and breadth is 9 m.

Options:
- 3
1 ® 792m°

> % 736 m’
- « 850 m?

4 % 910m’

Question Number : 63 Question Id : 5832241154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ofy e 3Ea F1 9iA 118 Her 3 79 #Hiv itz =7 ¥aT © {2 & & IHET 9% AF Fi

Options:

. % 792 T A
5 % 736 T Hex
= « 850 I Hrex
4 % 910 F97 #Arex
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Question Number : 64 Question Id : 5832241155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Exercise is to Obesity as Water is to:
Options:

1 « Thirst

- % Alcohol

= % Drink

4 w Purity

Question Number : 64 Question Id : 5832241155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

o W T

o ® q-ﬂ'

4% Q;E?IT

Question Number : 65 Question Id : 5832241156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If in a certain code language, 943 is coded as BED and 12448 is coded as SWEET, how is 492311 coded
in that language?

Options:
; » EDSWBS

> % TSWBDD
- » DSWTEE
4 v EBWDSS

Question Number : 65 Question Id : 5832241156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

T T BT T AT A 943 ST BED s 12448 w SWEET wsE S T E S s e F
492311 7 I =47 M7
Options:

| » EDSWBS
. » TSWBDD
- » DSWTEE
.« EBWDSS

N

Question Number : 66 Question Id : 5832241157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ravi iz facing towards north, He tums right and walks 23 m and then he tums left and walks 20 m. He tums right and
walks [5 m and then he turns right and walks 40 m. Finally, he tums right and walks 30 m. In which direction is Ravi
now from the starting point?

Options:

1 % North

- % South

= % North-East

4 « South-East

Question Number : 66 Question Id : 5832241157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® Scciy
= ¥ g
3cat-gd

4.9 AT

Question Number : 67 Question Id : 5832241158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the following mfommation carefully and answer the gquestion given below i1,

A+ B means A is the father of B A — B means A i5 the wite of Bo A = B means A is the brother of B A+ B means A is
danghter of B,

I[f P - B = Q. which of the following is true?

Options:

= Pisthesister of Q



5 % Q is the husband of P

-  Pisthe sister-in-law of Q

4 ® Qisthe sonof P

Question Number : 67 Question Id : 5832241158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % P, Q #r sg &I
, « Q, P & 9T &l
. » P, Q & smefr &

L% QP F TR

Question Number : 68 Question Id : 5832241159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which letter will be the 10% letter to the right of 12 letter from the left in the English alphabets?
Options:
1.V
> % T
z % U
48 W

Question Number : 68 Question Id : 5832241159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1.v V

o ® T
ST ] U
4 #® W
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In the following question. a statement followed by two conclusions is given. You have to select a conclusion that
follows from the statement.

Statement:
In a one-day cricket match. the total runs made by a team were 300, out of which 210 runs were made
by spinners.

Conclusion:

I. 70% of the team consists of spinners.
II. The opening batsmen were spinners.

Options:

, % Only conclusion I follows

> % Only conclusion II follows
- % Either I or IT follows
4 + Neither I nor II follows

Question Number : 69 Question Id : 5832241160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 5832241161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UN (United Nations) Day 1s celebrated every year on which of the following date?
Options:

1 « October 24

- % September 24

= % June 26

4 % Augustd

Question Number : 70 Question Id : 5832241161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 71 Question Id : 5832241162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following has NOT received a Nobel Prize in literature?

Options:
1 # Derek Walcott

> % Pablo Neruda
5  Elie Wiesel
4 % Ernest Hemingway

Question Number : 71 Question Id : 5832241162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 72 Question Id : 5832241163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following country launched the new communication satellite called “South Asia Satellite™?

Options:
1 # SriLanka

- » Bangladesh

- % Nepal

4 « India

Question Number : 72 Question Id : 5832241163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1.%@@
5w SIS
g_ﬁm
4 o AR

Question Number : 73 Question Id : 5832241164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country will host the next Winter Olympics in 20187

Options:
1 % China

> « South Korea
z % Canada
4 % Brazil

Question Number : 73 Question Id : 5832241164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 5832241165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
At the Oscar Awards ceremony in 2017, the Best Animated Feature Film Award was given for the film:

Options:
| « Zootopia

» % Moonlight

3z % The Red Turtle

4 % Moana

Question Number : 74 Question Id : 5832241165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 5832241166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the author of the book ‘Freedom From Fear’?
Options:

1 % Benazir Bhutto

5 ® Corazon Aquino
o o Aung San Suu Kyi
4 w Nayantara Sehgal

Question Number : 75 Question Id : 5832241166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
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Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
woITlen's history is wvaluable all twelve months of the year. Wormen have overcome daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 5832241168 Question Type: TYPING TEST Display Question Number : Yes

Tobacco smoking 15 a rmajor health probler in India and 15 also said to be the one that will only worsen unless
we act. Smoking alone is estimated to cause nearly 10 lakh deaths a year in India. It is also found that seventy
percent of deaths from tobacco use occur during middle age, when people are still in the most productive part
of their lives. Chewing tobacco products such as gutka is cormmeon in India. It causes over half of the deaths
from oral cancers and wormen are especially hard hit. More young people are now chewing tobacco and
conditions such as mouth lesions are increasing among youth. It is also found to be 3 very Cormrmon activity
arnong men and wornen all over. Alrmost thirty one percent men and nineteen percent worrnern chew tobacco
products in India. Specifically, the pregnant wornen rmust avoid the use of tobacco, as it leads to low birth
weight babies, still births and birth defects. As per the Global Adult Tobacco Survey, chewing is rmore Cormnornl
among the poorest. About thirty percent of poorest, twenty five percent of middle income group and only
fifteen percent of higher income group people chew tobacco products. Wormen, who chew tobacco, have
especially high risks of dying from oral cancer. 3.8 percent of women in the age group 30 to 69 years face
relative risk of dying from chewing than 1.5 percent of men. In simple words, the relative risk of dying from
oral cancer is greater among worrern. In Kishanganj, one lakh men in the age group of 15 to 69 years smoke
regularly. Almost seventy percent of thermn die during their productive years, while the remaining dies in the old
age £12 lakh men, who smoke cigarettes, lose 10 years of life where as 687 lakh men, who smoke bidis, lose &
vears of their precious life. The usage of tobacco is not just costing lives, but it is imposing economic burdens
on the health care systems of our country. This implies that the health facilities are forced upon to spend a
great share of their precious resources in treating largely preventable diseases. The cost of treatment for
serious diseases, like cancer or stroke can push families into poverty. Every year, almost 25,000 people are
pushed into poverty in Kishanganj. The district expends an approsximate total of Bs. 11 crore on purchasing
tobacco every year. Smoking cessation 15 the single most important action that srmokers can take to imnprove
their health and lengthen their lives. But, this doesn't seern to be happening in [ndia, as the quit rates are very
low at 5 percent. Guitting before or by the age of 40, avoids nearly all the risks.
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